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1 BEFAE (EVR) BEREXR
- = RETET L
BEIHEIT BRI t=8cm m2 1833. 1,830 AR
FE W TRI7 IR A& m3 146. 147
mu5 TAITI MR {K3& m3 146. 147
EEMKT BEMHNEME 3
ERERFS KB BHEK %IAS?]D%&E‘ ZiE m2 1833. 1,830
7
Bk THRE m 267. 267
RE B RE t=5mm Ry -ISSRIZEF ML L m 452. 452
iR B thAL IR 4 N =ryviEE R L m 452. 452
—n" = T ek . )|
1(17\17;:){%%%1) =®ET = Et=40mm FRITAIVRE T & (13) m2 1833. 1,830 HR
HET EHEt=40mm FHRIETAIY (13) m2 1833. 1,830 BR
XE#HRT BARAXER E#H B 20cm m 420. 420
e B 15cm m 84. 84
RE&ET REEET RBEFEERE A = 1
REBEFEERE B = 1
. 2 BRIBRIRVVIN .
ESLE LS B LEDIWAS-. IW)=5- = !
RBEHREIE LED$& AR 1 &= = 1
ARERME ARERAE = 1
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EmpkT

A ~P5}E T EfE= 8.750 m x 1/2 x
P5~ A2} T &= 8.750 m x 1/2 x
(1) BEYH (PRI 7L MEERED)
* A1~P5
AiE= 1336.6 m? x 0.080 m
* P5~A2
Kig= 497.0 p? x 0.080 m
2= 146.7 m* x 2.35 t/m3
(2) ERARFAK/E
* A1~P5
- P5~A2
Q) "k T
- A1~P5 152.160 m + 41.040
- P5~A2 56.340 m + 8.760
100m227= 1) 267.1 m /
(4) BB Hapt
- A1~P5 152.160 m +  152.160
* P5~A2 56.340 m + 56. 340
100m2&5 1= Y 452.0 m  /
(0) &R B HhAnIB 44
152.160 m +  152.160
56.340 m + 56. 340
100m227= 1) 452.0 m /

( 152.750 m+ 152.750 m) = 1336.6 m?
( 56.800 m+ 56.800 m) = 497.0
it = 1833.6 m?
t=80mm

BIEE = 1336.6 m?
= 106.9
BIEE = 497.0
= 39.8
&itEE - 1833.6 m?
HEtATE = 146.7
E5 = 344.7 ¢
BIEE = 1336.6 m?
HBIEE = 497.0
&&= 1833.6 m
m + 8.750 m = 202.0 m
m = 65.1 m
&&= 267.1 m
TR EE = 1833.6 m

1833.6 * 100 m2 = 14.6 m  (REIE)
m + 17.510 m = 321.8 m
m + 17.510 m = 130.2 m
&5t = 452.0 m
X RETE = 1833.6 m?

1833.6 * 100 m2 = 24.7 m  (BREE)
m + 17.510 m m= 321.8 m
m + 17.510 m 0.000 m= 130.2 m
&&= 452.0 m
xR EE = 1833.6 m

1833.6 * 100 m2 = 24.17 m  (BREE)



6) -1 -L{T (PRI 7L bEHET)
1) REt=40mm EHERBEIE

- A1~P5

- P5~A2

2) EEt=40mm FZHIET X2 > 13mm
- A1~P5
- P5~A2

3) XE#R

B#R R4 20cm

B#R BEER  15cm

210

210

20

HIEE = 1336.6 m
WIEE = 497.0 m?
&&t = 1833.6 m
MEIEE = 1336.6 m
HIEE = 497.0
&&= 1833.6 |'n2

= 420 m

= 84 m
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M E B E R (KR
T iE & Al Eoi | RO BiI| # 2 HEHmE % =
RS
HREYHEIT
R EtIE| t=5cm m?’ 6,429.7 6,430
RO ik m® 3215 322
L5y b i AL EE m® 3215 322
—n-{LT
' —5AAs13
RET (BEJK ) t=5cm m2 6,429.7 6,430
Y—MEY
2594 |w=0.3m m 200.0 200
XERT
AR XER [ B 20cm m 1,464.2 1,460
AR XERR AR B 15cm m 288.0 288
NV X EER | K< ED m 43.75 44
EBRAEYT
%
B BERE | 80 H=650 P 13.0 13
B BIZRE |80 H=800 N 4.0 4
%
BRSO BERE | 680 H=650 P 13.0 13
HIEHBZHE | 80 H=800 N 4.0 4
RE&kT
ZEEEI |REFEZREA X 1 1
RBEFEEZHEB| & 1 1
3 AR | A
R EIREHEI T BRIBRIELA-LEDIMNT- | T 1 1
RE R IR
LED$§ R = =X 1 1
ARLEREE
ARLEREE = 1 1




B EYIHIT

HRFTEE
xR #®
Bl & 0 B (EW) (FY)
& & g & [ ®E & & g & [ ®E
No, 313 +17. 900 9.25
No, 314 2.100 9.25 9.25 194 0.97
No, 315 20.000 9.25 9.25 185.0 9.25
No, 316 20.000 9.25 9.25 185.0 9.25
No, 317 20.000 9.25 9.25 185.0 9.25
No, 318 20.000 9.25 9.25 185.0 9.25
No, 319 20.000 9.25 9.25 185.0 9.25
No, 320 20.000 9.25 9.25 185.0 9.25
No, 321 20.000 9.25 9.25 185.0 9.25
No, 322 20.000 9.25 9.25 185.0 9.25
No, 323 20.000 9.25 9.25 185.0 9.25
No, 324 20.000 9.25 9.25 185.0 9.25
No, 325 20.000 9.25 9.25 185.0 9.25
No, 326 20.000 9.25 9.25 185.0 9.25
No, 327 20.000 9.25 9.25 185.0 9.25
No, 328 20.000 9.25 9.25 185.0 9.25
No, 328 +11. 000 11.000 9.25 9.25 101.8 5.09
No, 27 +11. 000
No, 29 +8. 000 9.25
No, 30 12.000 9.25 9.25 111.0 5.55
No, 31 20.000 9.25 9.25 185.0 9.25
No, 32 20.000 9.25 9.25 185.0 9.25
No, 33 20.000 9.25 9.25 185.0 9.25
No, 34 20.000 9.25 9.25 185.0 9.25
No, 35 20.000 9.25 9.25 185.0 9.25
No, 36 20.000 9.25 9.25 185.0 9.25
No, 37 20.000 9.25 9.25 185.0 9.25
No, 38 20.000 9.25 9.25 185.0 9.25
No, 39 20.000 9.25 9.25 185.0 9.25
No, 40 20.000 9.25 9.25 185.0 9.25
No, 41 20.000 9.25 9.25 185.0 9.25
No, 42 20.000 9.25 9.25 185.0 9.25
No, 43 20.000 9.25 9.25 185.0 9.25
No, 44 20.000 9.25 9.25 185.0 9.25
No, 45 20.000 9.25 9.25 185.0 9.25
No, 46 20.000 9.25 9.25 185.0 9.25
No, 47 20.000 9.25 9.25 185.0 9.25
No, 48 20.000 9.25 9.25 185.0 9.25
No, 49 20.000 9.25 9.25 185.0 9.25
No, 49 +10. 000 10.000 9.25 9.25 92.5 4.63
& F 695.100 6429.7 321.5




A—/IN\—LAT

EHEHHE
X % X =
B 5 i B (EY) (FY)
I 5 I I
EE B8  m@WHE|WwE B8 mWHE|RE W& @i
No, 313 +17. 900 9.25
No, 314 2.100 9.25 9.25 19.4
No, 315 20.000 9.25 9.25 185.0
No, 316 20.000 9.25 9.25 185.0
No, 317 20.000 9.25 9.25 185.0
No, 318 20.000 9.25 9.25 185.0
No, 319 20.000 9.25 9.25 185.0
No, 320 20.000 9.25 9.25 185.0
No, 321 20.000 9.25 9.25 185.0
No, 322 20.000 9.25 9.25 185.0
No, 323 20.000 9.25 9.25 185.0
No, 324 20.000 9.25 9.25 185.0
No, 325 20.000 9.25 9.25 185.0
No, 326 20.000 9.25 9.25 185.0
No, 327 20.000 9.25 9.25 185.0
No, 328 20.000 9.25 9.25 185.0
No, 328 +11. 000 11.000 9.25 9.25 101.8
No, 27 +11. 000
No, 29 +8. 000 9.25
No, 30 12.000 9.25 9.25 111.0
No, 31 20.000 9.25 9.25 185.0
No, 32 20.000 9.25 9.25 185.0
No, 33 20.000 9.25 9.25 185.0
No, 34 20.000 9.25 9.25 185.0
No, 35 20.000 9.25 9.25 185.0
No, 36 20.000 9.25 9.25 185.0
No, 37 20.000 9.25 9.25 185.0
No, 38 20.000 9.25 9.25 185.0
No, 39 20.000 9.25 9.25 185.0
No, 40 20.000 9.25 9.25 185.0
No, 41 20.000 9.25 9.25 185.0
No, 42 20.000 9.25 9.25 185.0
No, 43 20.000 9.25 9.25 185.0
No, 44 20.000 9.25 9.25 185.0
No, 45 20.000 9.25 9.25 185.0
No, 46 20.000 9.25 9.25 185.0
No, 47 20.000 9.25 9.25 185.0
No, 48 20.000 9.25 9.25 185.0
No, 49 20.000 9.25 9.25 185.0
No, 49 +10. 000 10.000 9.25 9.25 92.5
& i 695.100 6429.7




D790HNRIY-F  HEFR

& bl y5i) % & i (m)
AHRED W=0.3m 200.00
¥ OERICOWTIE, BEEOEENCEE LEZHETHD.
&5t 200.00
& bl y5i) % & Bt




X & & HEFEE (1/2)

& il iR s & &t
A B M) BBt EE ge W=20 1464.20
&t 1464.20
& il iR ¥ & &t
A B (hLig) AEt B B W=15 288.00
8m/A& 364

aEt 288.00




Y72 = =_| &~~~
X HEFTEEZ(2/2)
& ball iR ¥ & it
K ED RAVIR KB AR TE 43.75
W=15cm#aE  6.25m/&
=Eil 43.75
& ball iR ¥ & it
=Eil 0.00
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HigH BT FBEHR) & ¢80 H=650 13
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i il i # )
HIFOHE FBOR) 5 $80 H=800 4
&gt 4

] il 1 # )
HROBER #E fk ¢80 H=650 13
At 13

i il i # )
HIFOEIE W & $80 H=800 4
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